| dE/dx estimator 1 |

=

=

1
L g —
\ o

0.95 H

T T T T T " Entries 94828
E """" AR R freeriel Mean 2.802

T i i |sStdDev 1.784
a Enties 95709
r Mean 2.784
H Std Dev 1.783

..................................................

......................................................................

dE/dx, harm?2

6 7 8 9 10

| dE/dx estimator 2 |

T T T T - - Entries 94828
024E """" e po Feoemeitf Mean 2.801
- : : : : : ;| Std Dev 1.878

...............................................

o

N

N
I

Enties 95709
: : : : : : Mean 2.78
..... Freresedeeeasadesaeiheeeateee e | Std Dev 1.876

©
N
|

o

=

(o)
|

=

=

(o))
|

o

[EEY

D
|

© o o
o o O
S ® s N
[TTTTTTTITTTT]

o

o

N
I

=

7 8 9 10
dE/dx, trunc40

—=— DQM_CKF_TT _base

—e— DQM_CKF_TT retrain

TS 9F0Z0
............................................

‘ : . : : i | Mean 3.228
I S SR ST SUU .| Std Dev 3.872

¢ ERRREE P P B B :[Entries 95709
H : : : : . | Mean 3.216

------ e S R[22 3.855

.....................................................................

i

10 20 30 40 50 60 70 8
dE/dx number of measurements

T 1T
—-—

o

M TS 94828

b : : : : ‘| Mean 0.1764
: : : : : . | std Dev 0.4766

0.8 RRRELEEE RRREEEEE RRREEERS Breeeeess B : .

R : : : : Entries 95709
0.7 P Beeeeeee B Peeeeesss [ Mean 0.1798
. : : : Std Dev 0.479

09551620 30 40 50 60 70 80

dE/dx number of measurements with saturation

T T P T T T T T T et




	Contents
	Page 1


